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DECE-3 : SERVICES AND PROGRAMMES 
FOR CHILDREN 

Maximum Marks : 100 
Note : Answer any five questions. 

1. You are an ECCE (Early childhood care and 
education) professional and you plan to set up a 
preschool. You have read the ideas of various 
educational thinkers on teaching during early 
years. Identify any four thinkers and describe 
which ideas of these thinkers will you adopt when 
setting up your own preschool. Also explain why 
you selected these thinkers and their ideas. 	4x5=20 

2. (a) You have a child with mild mental 
retardation in your group of four year old 
children where you teach in a preschool. 
Describe five different adaptations that you 
will make in your teaching methodology 
and activities to accommodate the learning 
needs of the child with respect to each 
modification or adaptation, state what will 
it be and why you will make the 
modification/adaptation. 	 5x3=15 

(b) Describe the symptoms of a child with 	5 
cerebral palsy. 
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3. 	(a) State one message that you would like to 
communicate to the parents of young 
children in your community. What factors 
did you keep in mind while formulating the 

1+2=3 message ? 
(b) Describe the (i) strategy and (ii) method of 

communication that you will use to impact 
the message. 	 4+4=8  

(c) Give the justification / rationale for your 
choice of strategy and method. 	2+2=4  

(d) Describe any five barriers in the 	5 
communication process. 

	

4. 	(a) What is the objective of the Mobile Creches 	2 
programme ? 

(b) Describe five unique features of this 10 
programme. 

(c) Give four reasons as to why we need to 	8 
provide child care services in our country. 

	

5. 	(a) State five different ways in which visual 	5 
impairment affects the child's learning and 
activity. 

(b) With respect to each of the above effects 10 
state what can the caregiver do to lessen the 
impact of the impairment on child's learning 
and activity. Give examples to clarify your 
answer. 

(c) What advice will you give to parent of a 6 	5 
year old who wets her bed in sleep ? 
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6. 	Write on any four in about 300 words each : 4x5=20 

(a) Story telling as a method of communication 

(b) Weaknesses of the ICDS programme 

(c) Definition and types of hearning 
impairment 

(d) Any two organizations working for 
children 

(e) Dealing with children's fears and phoias 

(f) Causes of Behaviour difficulties. 

	

7. 	(a) You have to select a supervisor for your 	10 
early childhood care and education centre. 
What are the characteristics qualities and 
skills you will look for in the person ? 

(b) State five ways through which you will 	10 
ensure that the child with hearing 
impairment is able to benefit from the 
activities you carry out with group of 
children. 
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